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<BFni>

[ERiva EFA ( B% - FRA 24 ) TOTAL ( ouT IN )
1 Tik WX ( W - FRHET R 2 ) 4 (3] 37 )
2 BRE Bt ( B8 - ®EIAd 2 ) 79 ( 4 38 )
3 /MUEZRM ( 7 . TRH 2 ) 79 (40 39 )
4 Bl BE ( 5F - FHRh 2 ) 83 ( 44 39 )
5 B Ktz ( 8@ - EREBS 2 ) 83 (40 43 )

= = XK = B 5 =

6 T fz ( B - ®EIAd 2 ) 86 ( 45 4 )
1T BRE = ( B® - /\Z%+# 1T ) 86 ( 42 4 )
8 /b ( W - R 2 ) 87 ( 47 40 )
9  FHE &H ( = - FEhlsp 1T ) 87 ( 45 42 )
10 £+ JEH ( Wik - WEE=+ 2 ) 89 ( 43 46 )
11 IR K ( &' 8% - SRty 1T ) 89 ( 43 46 )
12 hE A ( B - BHXfH 2 ) 89 ( 39 5 )
13 Fit B ( 88 - &%= 2 ) 90 (45 4 )
14 ## RiE ( = ERA=ky 2 ) 90 ( 42 48 )
15 Bl B ( & . SHET R 2 ) 96 (46 5 )
16 &k PE ( &F - {fesdts 2 ) 97 ( 48 49 )
17 8 ( Wi - WKERS 1T ) 97 (46 51 )
18 BiF EmX ( Wi - WEEAX 2 ) 98 (44 54 )
19 S B ( Wi - XEE=4 2 ) 99 ( 45 54 )
20  dek  B&ov ( 8% - H‘INERF 1 ) 103 ( 53 5 )
21 T XiE ( Wi - WigRe 1 ) 106 ( 55 51 )

<EFDE>

[ERiva EFA ( B% - FRA 24 ) TOTAL ( ouT IN )
1 BM fT ( BW - EREBS 2 ) 73 ( 37 36 )
2 Pl #BK ( &5F - i Lo 2 ) 8 (38 40 )
3 et ETE ( 8% - BA%EIH 2 ) 8 (38 40 )
4 EBE ¥ ( B8 - ®EIAd 1T ) 80 (40 40 )

= = K = B 5 =

5 £FH ER ( 85 =103 2 ) 81 (40 4a )
6 iRiE B0 ( 85 EEHEMEH 1) 84 (39 4 )
7 HH TE ( 85 =Rals 1T ) 86 ( 43 43 )
8 EFH =R ( 85 =103 1T ) 87 ( 43 4 )
9 BEE M ( = ZIlalay 1T ) 90 (44 46 )
10 hE EF ( &F KEd 1T ) 92 ( 47 4 )
11 mAMAESE ( Wi - EEEDESH 1T ) 97 (51 46 )
12 fHL EFF ( 8% - H‘INERF 1 ) 108 ( 58 5 )
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